
 

 

 :  الاستمثالمسائل 

 :  99المسألة الثاوية صفحة 

𝒉إثبات أن  -1 = 𝟑(𝟏𝟎 − 𝒓) 

ℎ: لدينا  = 30 − ℎ′  (......1) 

  حساب𝒉′  : 

𝑇𝑎𝑛 𝛼: لدينا من جهة  =
10

30
=

1

3
 

𝑇𝑎𝑛 𝛼      :و من جهة أخري  =
𝑟

ℎ′
 

: إذن 
𝑟

ℎ′
=

1

3
′ℎ: أي    = 3𝑟 

ℎ نجد ( : 1)بالتعىيض في  = 30 − 3𝑟 أي : 

ℎ = 3 10 − 𝑟  

 :  𝑽(𝒓)التعبير عه  -2

= 𝑉 𝑟: لدينا  𝜋𝑟2 × ℎ  أي :𝑉 𝑟 = 𝜋𝑟2 × (30 − 3𝑟)  أي :𝑉 𝑟 = −3𝜋𝑟3 + 30𝜋𝑟2 

 : دراسة التغيرات  -3

𝑟: لدينا  ∈ 𝑉و ,   0,10  ′ 𝑟 = −9𝜋𝑟2 + 60𝜋𝑟 

𝑉: لدينا  ′ 𝑟 = 3π𝑟 −3𝑟: معناه  0 + 20 = 0 

𝑟: ينتج  = 𝑟و  0 =
20

3
  

 

 

 

  

 

 

 :   𝒉  و 𝒓استىتاج  -4

𝑟من جدول التغيرات نجد  =
20

3
 :و  

                      ℎ = 3  10 −
20

3
 = 10 

ℎ = 10 𝑐𝑚  
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